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Joint Committee on the National Broadband Network  

Answers to Questions on Notice 

Public Hearing 19 April 2013  

Broadband, Communications and the Digital Economy Portfolio 

NBN Co Limited 

 
 

  

          Question No: 53 
 
Hansard Ref: In Writing  

 

Topic: ARPU 
 
The Committee asked:  
 
At the April 19 hearing Mr Quigley stated NBN Co's current ARPU was about $38/month, and 
this was a more realistic measure for the starting point of any estimate of growth rates for ARPU 
over time. If the NBN Co latest reported breakdown of customers by speed tier is multiplied 
through by the current NBN wholesale AVC prices for these tiers, the result is an ARPU of about 
$29. The network interconnect charge amortized across users accounts for a small additional cost. 
Is it correct, however, that most of the remainder is CVC charges? 
 

Speed tier AVC/month % age breakdown of 
subscriber 

Implied contribution 
to ARPU 

100/40 38 31 11.78 
50/20 34 5 1.7 
25/10 30 1 0.3 
25/5 27 24 6.48 
12/1 24 39 9.36 
Total   29.62 

 
Answer:  

Year to date (to 31 March 2013) monthly ARPU comprises approximately 73% AVC, 17% CVC 
and 10% NNI. 
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